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AP—64—2016
FACULTY OF COMMERCE
B.Com. (Second Year) (Third Semester) EXAMINATION
OCTOBER/NOVEMBER, 2016
COST ACCOUNTING-I

(MCQ + Theory)

(Monday, 17-10-2016) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. .— (i) Solve question No. 1 on OMR sheet during the first half an hour.

(1) Question No. 1 and question No. 2 are compulsory.
(z11)  All questions carry equal marks.

(tv) Simple calculator is allowed.
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1. Multiple choice questions : 10
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@) Issue of the material is the main function of :
(A) Accountant (B) Storehouse
(C) Cashier (D) Clerk
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(1) Which is function of Cost Accounting ?
(A) Cost control
(B)  Policy making
(C) Cost and price determination
(D) All of the above
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(zii)  ABC analysis depends on :
(A) Materials price (B) Materials cost
(C) Materials quality (D) None of these
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(fv) Bad debts, advertising and packing expenses are the examples
of :

(A) Selling and distribution expenses

(B) Office overheads

(C) Manufacturing overheads

(D)  Prime cost
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Prime cost + Factory overheads + Administrative overheads + Selling
and distribution overheads = ....... ............... .
(A) Cost of goods sold (B) Cost of production
(C) Total cost (D) Works cost
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Maximum consumption x Maximum reorder period =

(A) Maximum stock level (B) Minimum stock level
(C) Average stock level (D) Re-order stock level
AT HewHd U9 x Head YA: SARI] wreddH =

() wHHe Y UK (%) FAR w=hy el
(F) TIEH Y e (¥) TA: STQIT Y e

Future of the production institution depends on :
(A) Efficiency of manager

(B)  Efficiency of workers

(C) Efficiency of official staff

(D) Efficiency of cashier
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Labour cost control depends on :
(A) Proper selection of workers
(B)  Recording of time

(C)  Proper consideration of work

(D) All of the above
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Overhead for machine

No. of machine hour

(A) Labour hour rate (B) Machine hour rate

(C) Rate per unit of output (D)  Production overhead rate
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Base for apportionment of rent is ...........ccceevvvivinnn..n. .
(A) Number of light point

(B) Men engaged on machine

(C) Space occupied

(D) None of the above
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(Theory)

2. From the following particulars prepare Store Ledger Account under FIFO
method :

There

Date
1-12-2015
8-12-2015
13-12-2015
15-12-2015
20-12-2015
22-12-2015
25-12-2015
30-12-2015

10
Particular
Opening balance 200 kg @ T 20 each
Issued 100 kg
Purchased 300 kg @ ¥ 22 each
Returned from work order 20 kg @ ¥ 20 each
Purchased 100 kg @ ¥ 25 each
Issued 100 kg
Purchased 240 kg @ T 28 each
Issued 300 kg

is shortage found 20 kg as on 31st December 2015.
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feTien
1-12-2015
8-12-2015
13-12-2015
15-12-2015
20-12-2015
22-12-2015
25-12-2015
30-12-2015

qURTS

YRYU w@hY 200 fRIm T 20 wfa fe.am
= 100 &

=R 300 fwam 22 uwfa fwam

Fr fawrmeRed wa 20 fR.am. % 20 wfa feam
W 100 R T 25 ufd fmam

e 100 feRam.

W 240 fwam ¥ 28 wfa fwam

e 300 fom.am.

31-12-2015 @ 20 fw.am. =it @ foga =
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Standard time allowed for a job is 48 hours. The hourly rate of wages is

Rs. 2 per hour plus a dearness allowance @ Re. 1 per hour worked. 10
The actual time taken by the worker was 42 hours :

Calculate total earning on :

@) Time rate basis

(@)  Piece rate basis

(zii)  Halsey plan

(tv)  Rowan’s plan.
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Or
(fenam)
From the following data, prepare a statement showing the cost per day of

8 hours of engaging a particular types of labour :

(@) Monthly salary (Basic + DA) T 200

(1) Leave salary payable to the workman : 5% of salary

(zii)  Employer’s contribution to P.F. 8% of (i) and (i)

@iv) Employer’s contribution to ESI : 2¥2% of (i) and (ii)

(v) Pro-rata expenditure on amenities of labour : ¥ 17.95 per head per month

(vi) No. of working hours in a month 200 hours



WT

( 7)) AP—64—2016

WSS Hifediaer Tehl faziee Weh=al hII=T 8 A=l Ueh feadrn 9™ 9iiesd
TIifoom faeror ar =4 .

() ~ TE® o (Y + WM o) : T 200

(1) ShTHITIT SATTET Sl TR ¢ Iq = 5%

Gii) wfosy frafe e Aresr JreE @ () 310 i) 8%
Gv) HEHE T fom GsE ARE () ) 2%%

() T A Heodieiie @< : ¥id "/El 2 17.95 !

(vi) HEAS HMER 99 : 200 T

Determine machine hour rate of a machine from the information given

below : 10
@) Purchase price of machine ¥ 90,000

(i) Freight and installation charges ¥ 10,000.

(z11)  Life of machine is 10 years @ 2000 working hours per year.

(tv)  Repairs charges 40% of the depreciation.

(v) Consumption of electric power 10 units per hour @ 5 paise per

unit.
(vi)  Lubricating oil @ ¥ 2 per day of 8 hours.
(vit) Consumable stores @ ¥ 12 per day of 8 hours.
(viii) Wages of machine operator @ ¥ 6 per day of 8 hours.

Note : The residual scrap value of machine is nil.

Tole fooed mifedioed Th1 JRET Fafad 959 9F € el

@) A WREl fRma € 90,000
() IR@E WIE 9 RO @@= T 10,000.
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(v) TEX o1 T A 40% 3T
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(i) U q@ 8 arEre dfd feawEren ¥ 2 gH.

(vii) SUEST WhY 8 T dfd feedrer 7 12 yHm.

(viii) IF TSR TSR 8 qEre i feawer 2 6 wH.
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Or
(feram)
From the following information find out :
(@) The cost of material consumed

b) Total cost of production

3
Stock of raw material (1-1-2015) 3,000
Purchase of raw materials 75,000
Productive wages 60,000
Stock of Raw materials (31-12-2015) 3,200
Work oncost 12,000
Office oncost 14,680
Sales 2,01,850

The company has to give the tender for the machine. The estimates of costing
department shows that the material required would cost ¥ 3,000 and the wages
would cost ¥ 3,750. Work oncost and office oncost would bear the same
percentage, which the work oncost bears to the productive wages and office

oncost to the work cost as in the year 2015.

The tender is to be made at a net profit of 20% on selling price.
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Wole HEd aed fRed &0
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4
[ @Y (1-1-2015) 3,000
BSiep| 75,000
ElcCoall 60,000
i @Ry (31-12-2015) 3,200
ffo 3uie 12,000
HAGT SUREE 14,680
forsht 2,01,850
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T % 3,000 9 SARH gt T 3,750 = @re. vl IuRemEr Iceew iRt
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